( /m)

=L*t

=L*t

v( /m)

Im

v'( /m)

3()

=h*(v+v')

=I*2 /m

M(hr)

1
(m/ )=(60*M
*S/T)*(1-E)*h

=H/D

3&

()
=3 (N1I” N4)

JIGA

2.0

91

30

1.00

2.0

8.00

56.0

56.0

3.00

30

96.0

5.00

[{eJaN]

45.0

45.0

14.00

103.0

101.0

3.00

96.0

11.00

22.0

251.0

f1
f2
f3
f4
5

6.3

9.0

273.0

31

34

JIGA

2.0

91

30

8.00

56.0

56.0

3.00

30

96.0

15

5.00

o~

45.0

45.0

13.00

101.0

3.00

96.0

10.00

20.0

247.0

f1
f2
f3
f4
5

0.4
0.15

0.55

6.3

4.1

273.0

67

70

JIGA

1.6

30

1.00

4.40

23

110.0

[{e]aN]

6.50

30

208.0

104.0

10.90

318.0

3.10

6.2

460.2

f1
f2
f3
f4
5

6.3

9.0

87.2

10

11

f1
f2
f3
f4
5

f1
f2
f3
f4
5

f1
f2
f3
f4
5

f1
f2
f3
f4
5

f1
f2
f3
f4
5

f1
f2
f3
f4
5

f1
f2
f3
f4
5




53PS 250kVA
L B '(m3) Q(m3) a 1(m3) q(m3/ ) y 2(m3) (m3/ ) 3(m3) > (m3) (m3/ ) 1(m3) 2(m3) (m3) c(l/ ) 1) g(l/7 ) () ()
=L*n (m3/ ) =H*y* =Q'*(1+f ) =H*v*qc*(1+a ) =T2"*n*q*y =N2*u =VI+V2+V3 |5 /N2 =T2'*n*0.04 |= *15 I+ 2 = C*N2*S = g*N2  |=P1+P2
728.0 0.06 0.06| 491.40 | 520.88 0.3 638.8
JIGA 455.0
1,183.0 491.40 | 520.88 638.8 0.04 0.5 183.8 2 62.0 884.6 28.5 368 781 1,149 52| 3,224 256 7,936 | 11,160
728.0 0.06 0.06| 491.40 | 520.88 0.3 638.8
JIGA 455.0
1,183.0 491.40 | 520.88 638.8 0.04 0.5 183.8 2| 134.0 956.6 14.3 368 781 1,149 52| 6,968 256| 17,152 | 24,120
52.0 0.06 0.06| 48.58 51.49 0.3 63.1
JIGA 52.0 0.06 0.06] 93.60 99.22 0.1 103.0
104.0 142.18 150.71 166.1 0.04 0.5 16.6 2 20.0 202.7 20.3 33 226 259 52 520 146 1,460 1,980




